Algebra 1					Unit 2.1 Recovery Work


Algebraic Proofs:
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Equation Forms:

What is Slope-Intercept Form? _____________________________________________________________________
What is Point-Slope Form? ________________________________________________________________________
What is Standard Form? __________________________________________________________________________

1. Find the Point-Slope form of a line that goes through the points (-1,2) and (3,4).


a. Write the equation in Slope-Intercept Form


b. Write the equation in Standard Form


2. Find the Point-Slope form of a line that goes through the points (-1,-2) and (-4,1).


a. Write the equation in Slope-Intercept Form

b. Write the equation in Standard Form


3. Find the Point-Slope form of a line that goes through the points (-1,-3) and (3,-5).


a. Write the equation in Slope-Intercept Form


b. Write the equation in Standard Form


Inequalities
[image: ]
For each of the following inequalities:
(a)	Write the inequality algebraically.
(b)	Graph the inequality on the real number line.
(c)	Write the inequality in interval notation.

1. x is greater than 5.
1. x is less than 4.
1. x is less than or equal to 3.
1. x is greater than or equal to 7.
Write each of the following inequalities in interval notation.

1. 

2. 

3. 

4. 


Solving Systems of Equations
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Systems of Two Equations

Solve each system by graphing.

1) y=-3x+4
y=3x-2
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11) 7x+2y=-19
—x+2y=21

13) ~Tx+4y=24
4x—-4y=0

Solve each system by elimination.

15) 8x—6y=-20
—16x+7y=30

17) —8x— 10y =24
6x+5y=2

19) -4y —-11x=36
20=-10x-10y
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12) 3x-5y=17
y=-7

14) 4x—y=20
—2x-2y=10

16) 6x—12y=24
-x—6y=4

—24-8x=12y
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20)

—11x=-20+9y
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Given:  —6a-35= -95
Prove: a=15

Statements

Given:  3(5x+1)=13x+35
Prove:

Statements
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Two-Step Inequalities Period

Solve each inequality and graph its solution.

1) 2x+4>24

+—+
304 5 6 7 8 9

3) 3(p+1)<-18

5) -b-2>8 6) —4(3 +n)>-32

-2 -0 123 4 5 6 7
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